T = e G =
Hi X 4 K B 1 X
™ %= % WP RKEET OKEE
R R B I X AR E A6 R A /K B BR R R T
i B X 5 %A H s,
i T3ER  L=40. Om
FAE T L=40. Om
T = # =
2 T RGEEA %RE AR HEZ
N R =
#H X5y Moy o R A F1EIZ8 R G F2mI 28 EER G 3mSR G HAE F4RIZE R A 555148 R GHAE
T = i &

TH 2 Bl Jo OV 5 11 e il

WmoAa o8 B OH




N B DX AE SRR K BB 506 SR T

% & 7%
% B - I B - M B - M A x'e & HANL H i & #H B LA 2 pAe b
THE#H
1 =
AT HL
1 =
HEK I T 202
1 =
&t

nEs P




N B DX AE SRR K BB 506 SR T

AL HF B AN R OE

% B - I B - M B - M A x'e & HANL H i & #H B LA 2 pAe b
HEKIEE T 5502
1 =
HRCATE T
40 m B 1%
+T
40 m B 2%
% T
1 Y B 35
et
1 Y B 4%
[ERENNE X &
ILam R A
1 =
I (Fg 1)
1 =
Bt g By
1 =
T EE AR
49l 55585 MEAT HLHI 5 355 GGERR A &)
1 =
I (1)
1 =
ESGIRE-E&Tn
1 =

nEs P




N B DX AE SRR K BB 506 SR T

AL HF B AN R OE

% B - I B - M B - M A x'e & HANL H i & #H B LA 2 pAe b
T
1 =
B E P
1 =
T =5
1 =
— i B
1 =
T HAMm kS
1 =
TH 2 B Y K
1 =
&t

nEs P




N B DX AE SRR K BB 506 SR T

[ % 1 % BfUliE ]

AT 10 m %Y
4 7/ I =) ¥ & N7 i | B BT 2 “e
ABATIAIL (N 7R )
MRE3m KHOF12cn
20 VN H 15
R
$£-2m JE3. Ocm 1FE20cm
50 8
W H UG LR AR
20 m2 P 1 &
it
BN 720

nEs P




N B DX AE SRR K BB 506 SR T

[ % 2 5 BfUiE ]
+T 10 m %Y

% S ) % % HLAL H i &

i

P 4 Bl 25 5 # %

e

fmEl A7l b
L4 5, 000m3A

29:9 m3 P 2%
Ny 77 GREL)
10:1 m3 i1 &
Wb S R
FEAE ATy ok ILES0. 45m3 CEFS0. 35m3) b
19:8 m3 P 3%
et
HEs AN ToO/LER
19:8 m3 P 4%
7t
BAfLY 720

nEs P




N B DX AE SRR K BB 506 SR T

[ % 3 % BfUiE ]
% T

B

% 77/ ) % gy XA (i il B AL 2 5 e
KA Lo 5 B - 3@ (N y 78 U akiE)
PESE L 6m LT
6 1% " -
KA+ D 5 #E
PESE L 6m LT
6 1% " -
KT CUhAE)
1 X " -
% E
100 m - -
H
BN 720

nEs P




N B DX AE SRR K BB 506 SR T

[ % 4 % BUE ]

HEH %y
4w U B i i O i
T EEWED
6 A

B 720

nEs P




N B DX AE SRR K BB 506 SR T

[ % 15 i ]

R E . e
4 s Bl % & LA il il B AL 2 5 3L %
BB [
30 m2 Wi B
B E
30 m2 Wi B
ek 22%1524%6096 [EEH]
1~90H
450 m2f A
H
BN 720

nEs P




